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SWV-ETEX 235,000[ 119 FE INEE—RIEFENZVE (1 4.3m|5K3E dtFHA
t2THE1131&14 1:1.2 EMARELT-EE#IE LBl HZR 1ER %85
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(8) - 4 LS2 TK 1.3km | ( 60, 200)
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SWVFEHHRE 186,000 177 F=E —REZEHNEOREE (Lf 6m |7KE FEEE]
£E6TH23%20 1:2 BEEOFEMSE E HR 1chEs #[5
(&) - 15 W2 TK 1.1km | ( 60, 150)
SWVFEHRHRE 239,000] 1411 EHmE [EH. SBEMELSELIE (& 27m|KE PR E|
*E6THSE74 12 |BE EN=E S S ube & HR HEEE HERS
(8)5- 1 S3 EEE | TFK 1.1km | ( 60, 200)
SVNEEEM SV EETEHER 99,000 100 FE f/NREO—RIEFENS (1t 4m |7KE a1
ABT2TB2232%26 1:15 LMEE S HE HR T{EE %[5
(8) - 1|{TKET2—8—12—4) W2 TK 950m | ( 60, 100)
SWEHRAEHER 111,000] 231 [EE3] FIRE—REEALZVEE [FFE 46m|KkE =8
* ABI3TH2771%&2 1:2 R AE B ithig E 1R
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SWVETEHRX 84,400 170 F=E FREFEHNZVEHEL @ 6m |/KE REW
RH4TH7ES1 1:15 fEEHhig i HZ 1EE

(8) -3 W2 TK 1.4km | ( 60, 100)
SV EHRAHBER 74,0001 202 F=E —RIEEHNZ(RONDE|[E 6m |/K& =t
WR1TBH451%&25 1.5:1 Ehig i HR 11EE

(8]) - 4|lgE1—5—13] W2 Tk 1.5km | ( 50, 80)
SV ETEHER 81,200/ 198 [EES] FHE—REEENRS |FEE 6m |7k& =
KEEWFITIGTO1ERN 1:2 NHZXEEZEDOESH |XEEHE HR 2hE

(8) - 5|GIN44ER11R) W2 1 Tk 1.9km | ( 60, 150)
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(B) - 7 LS2 TK 800m | ( 60, 200)
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N 144,000 161 F=E hHEE—REENEDY (X 4m |7KE EpNEd
B&3TH6&12 1:1 ARG EEHhE E AR 2hE #[h
(&) - 16 W2 TK 400m | ( 60, 200)
MEiH 75,900] 195 = hIRE—REELAELI [JtFE 4m |7k5E B
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B EAET6 %9 2.1 | IVHERFELERATOBE RN |HiE HR SE 01
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FEFHEH241%5 1.2:1 ARREROEEMHhE  |fE HA 1ER
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(8) - 1|l'fgfRi3—9—25] LS2 TK 2km | ( 60, 200)
V)il ] 188,000 240 [EE3] FREE—REENZOE |/ 5.5m [/KE BHKRE

* RET3THO87%16 1:1.2 i Bt HE H= Al 252

() - 2|I5ET3—11—4] W2 TK 550m | ( 60, 200)
BNt 158,000 115 [EE3] INBREEE, TA—ED R 5.3m |/KE& ]

JKJIIET581& 34} 1:1 BET HEEthig E HZ 1thE

(8) - 3 W2 TK 1.3km | ( 60, 200)
Ehnm 128,000 143 F=E INEBEEQHRIZT/N— A 4m |7KE #H
£ BB ZM839%6 1:1 FELRONDEEME  [dE HR 1

(8) - 4 W2 TK 900m | ( 60, 200)
= ¥)ihs) 112,000 179 [EE3] FHRE—REEIELI |& 6.5m [/K& $H
RFX3TH26%20 1:1.2 SERELI-FEME TE HZ 1E®E

(8) - 5 W2 TK 2.2km | ( 60, 150)
B 116,000 132 [EE] —BIEFEDHICTUVAY B 6m |/K3E BHKRZE
EEITHB08E 12 1:1 NRONDEEHIE il HR :L 1thE

(8) - 6|[fEE3—23—401 W2 TK 1.5km | ( 60, 200)
= ¥)ihs) 165,000 123 F=E INREO—RREE. T 4] 4m [KE BHKRE
¥WE5T B 1560%F44}+ 1:2 IN—NENRET HEEM|HE HR :D) 1thE

(8) - 7|IE5—11—7] W2 1 Tk 850m | ( 60, 200)
B 178,000 105 F=E FUMNERDO—REENS |F 4m [JKE BIR
NFE1TH79%13 1:1.2 WAEEDRLMEERE [hE HR 11:2

(8) - g|Iag1—14—8] W2 TK 400m | ( 60, 200)
B 94,800 102 [EE3] —BIEFEDHNNIE, |E 4am |7kE $H
FHW8TH2509%4 1:15 BELRONDEEHE |fmE HR 1

(8) - 9|l EHI8—26—24] W2 Tk 2.8km | ( 60, 200)
Ehnth 131,000] 138 FE —RREE. TA—FENE |E 4m |7KE #H
I\IBETF EIR527F4 1:2 E9 HiEEHE TE HZR 1EE

(&) - 10 W2 TK 1km | ( 60, 200)
W) 114,000 180 [EE3] FUMRBED—REEEN |& 6m |/K& BHKRE
$#X5TH320%76 1:1.2 BEH Al SEE i i AR ELI 11EE

(B) - 11|I#X5—24—17] W2 TK 1.9km | ( 60, 200)
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Ehnth 136,000 119|&8% |[F=E —RIEEEHNELLSRX [E 6m |/KE BIR
HIZ4TH1338%7 1:2 ERIEED T TE HZ 1EE
(8) - 12|l #g4—17—5] W2 TK 1.3km | ( 60, 200)
= ¥)ihs] 162,000 100 F=E FUMRE—REELNZEL< [ 6m |7KE AR
* BIFETFEAE1446F38 1.2:1 REondEEihs TiE HR 1thE
(&) -13 W2 Tk 700m | ( 60, 200)
& 116,000 100 F=E INBREEE, 7/A—FER [E 4m |7kE )
FmEr371%&4 2:1 RonaEEthig i HR 1thE
(8) - 14 W2 TK 1.6km | ( 60, 200)
W) 159,000 123 [EE3] INEEO—RIEFENES (B 5.3m |7k3& Em
FERT447%2 1:15 i SYE S i HE AR 1thE
(&) - 15 W2 TK 950m | ( 60, 200)
& 172,000 165 [EE3] FREE—REEDENT |A 4m |7kE )
hR1TH141%10 1115 N—hERONDEEHIE [hE HR 2theE
(8) -16]lh1—5—6] LS3 TK 950m | ( 60, 200)
B 116,000] 106 FE INRRRIEE. 7/A— &N [FE 4m |7k5E #®Ix
BEMHETFEHE82E2 1.5:1 Boha%nnEsthE (fE HZ 1R
(8) -17 W2 TK 1.2km | ( 60, 200)
= ¥)ihs) 149,000 103 [EE3] FUNMEEDO—REEEN [dLfE 6m |7KE RAEBRER
HERTF R FiB1560%49 1:2 Bl SME e i H=R KB (1R
(8) - 18 RC2 TK 620m | ( 60, 200)
Bt 143,000] 555 [ESFE |15, S5, —REEF(m 16m|7K& #H
+£HARTFE E510%F 144 115 | & MR IR |hE HR RRES=:
(8)5- 1 S2 TK 370m | ( 60, 200)
BN 240,000 146 [ESEE /MEEES. BEREL. (& 10m|7K:& =m
KJIET2143F 174+ 112 |FMEE  |HEEESESLEBLLESE |ma AR GSES
(8)5- 2 S5 K Hhig TK 340m | ( 80, 400)
B 303,000 437 IEEh INFEIES. BRBIE. SR1ITH (1L 16m|7K& BHRZE
FET2TH1028% 14} 1:1.2 MEL I SERFIEEME (BE HR ED) [k 3
(R) 5- 3|I5ET2—11—12} S2 HEE | TFK 90m | ( 80, 400)
Ehnth 148,000 853 [EfiRE | KRBERMGEE. A—FY |& 14m|7KiE BHRE
FAT1TH691&34} 11 |BEMEE |AFEHNBEETIRER|BE H= :0) T
(8)5- 4|l HE1—8—12] RC5 L\ 3 Tk 950m | ( 60, 200)
Ehnth 100,000 4,161 BE FIREOTH. BENE [R 16m| /K& BHRZE
EHH1TBH4654%F 74} 1:2 RELF-RER DORBEES|mE HZ il ITE
(&) 9- 1|I 41 —6—34 S2 Hh i K 3km | ( 60, 200)
Ha Hath 119,000 96 [EE3] INRBEEETAA—NEN | E 4m |K3E HE
HE3TH1173%8 1.5:1 BETSEEHE i HR 1thE
(8) - 1|IE&E3—11—61 LS2 TK 1.2km | ( 60, 200)
Ham 120,000 140 FE PREO—REFEENZL [ 6m [7k&E |AITA
FR&Em6TH15%E11 1.2:1 REBEAREL-EEHE  |hE HR & 1thE
(B) - 2 W2 TK 1.7km | ( 60, 200)
Ham 105,000 180 [EE3] F/NREO—RIEFEEN A 4m [KE PN
RERMNFEEMI56%E32 1:1.2 BH i SEEthiE HE AR 11E%
(8) - 3 LS2 TK 1.3km | ( 60, 100)
HAT 214,000 135 F=E hIRE—REEINZLER [/ 6m |/K3&E s
* EHAsTHEE22 1:1 EEARELI-{EEHIE L) HA 1hE
(8) - 4 W2 TK 600m | ( 60, 200)
Bam 110,000 112 F=E FNRE—REEDIFE  [dtE 6m |7K& s
HAR2TH17%&S3 1.2:1 M EMARSNDEER |fE HR 1hE
(8) -5 w2 1 K 1.8km | ( 60, 150)
Hath 154,000 194 F=E hIRE—REE. 73—k = 6m |/Ki&E [2EA
Hin2TH8E13 1.2:1 ENERTHEEME  (dE H= 1hE
(8) - 6 W2 TK 1.2km | ( 60, 200)
At 147,000 100 [EE] INRE—REEODIC, [dbE 4m |7k5E F2ES
FRILAT3 T B44&10 1.2:1 TIN—hERRONDEE |HE HR 1EE
(8) - 7 w2 Hh i K 900m | ( 60, 100)
Ham 138000/ 110 F=E INBRBL—REFS. Y |E 7.9m |7k&E FEEA
EE#HR1THEH101ESS 1.5:1 LarvNBLMEEHE HE HR 1E=
(8) - 8|/ EER1—12—-171 W2 Tk 1km | ( 60, 100)
AT 106,000 106 F=E —REEIBLESXE |(FEE 6m |7KE HAITA
KEMEFIEM367%E50 1:1.2 BARELI-(TEHhE TE HZ a 11:2
(B) -9 W2 TK 1.7km | ( 60, 200)
Bath 116,000 120 [EE3] FUMREO—REEDZ (FEf 4m |K3E PN
RFELHEAEFEIZ63%26 1:1 WaiEEEithiE T HZR 1%
(&) - 10 W2 TK 1km | ( 60, 100)
HaTh 146,000 148 F=E PRE—REEAZLER [tFE 6m |7KE BATFA
* FRI&E2TH20%2 1:1.2 BERARELIEEiHhiE HE H=Z =) 1thE
(8) - 11 W2 TFK 850m | ( 60, 200)
Ham 126,000 151 [EE3] —RIEFEEDHNIUIIL |FEE 6m |7KE TH
EARATOES 1:2 ENEETHEEME  (fhE HR 1thE
(8) - 12|IE4EFRT9— 16 W2 Tk 950m | ( 60, 200)
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Hamh 233,000 246 [EE3] PREO—REENKE (& 6m |/K&E EEEE
HEHA3TH1024%38 1:15 BARLELASEEHE |f AR 1thE
(8) - 13|Im#ga3—13—191 W2 TK 350m | ( 60, 200)
Ham 131,000] 102 = IMNEBEOFZIEENZL [ 6m |7Kk:E Ba
EABSTHES7E7 1:1.5 — AR E Eihig i HR 1E%
(8) - 14 W2 Tk 900m | ( 60, 100)
AT 137,000 143 F=E —REZSEHNELLSX (1L 6m /K& FIR 225
L#HAITH14F 144 1:1 EERELI-{EEHhig i HR 1thE
(8) - 15]TdkEa3—14—14) W2 TK 700m | ( 60, 200)
Ham 102,000 124 [EE3] —BIEE. TN—FENS |1 6m |7k5E s
REEKEFHEI313%6 1:2 {CEEROSNDEEH |fE HZ 1g=
(8) - 16 W2 1 Tk 900m | ( 50, 100)
Bam 99,000 103 FE INBE—REFEOM. 7 [t 5m | /K& PN
KFI+EFRB722%6 1.5:1 N—rERONBFEE |fE HR 1thE
(8) -17 W2 TK 1.5km | ( 60, 200)
HMa™ 118,000 115 FE —fRiFEEFDIZT /A= 6m |7k5E s
EH1TH7&5 1.2:1 FLRONDIXEEREL | HZ 1thE
(8) - 18 W2 f-1EEihig Tk 1.7km | ( 60, 200)
Hath 179,000/ 160 F=E FIEE—REENSVE [1LFE 6m |7Kk:E s
A1 TH49%2 1:1.2 EBRELI-EEHhiE E H=R 1thE
(8) -19 LS2 TK 900m | ( 60, 200)
Bam 103,000 151 F=E hRE—REEENARS (it 6m |/KE HAITA
RKFEREFEHS03E1 1:1.5 hEXEEEROESH (fE HZR & 1HhE #ff
(8) - 20| (FAKRL24KX5) W2 1 Tk 2.2km | ( 60, 150)
Bah 40,000 773 [EE3] BEREFEEHNELLSG |FHE 6m |7Kk:E FEEA MR
AFEERFEHITIRA2666%1 1:2.5 ICEHEZ<RONDEE |fE
(8) - 21 W2 Hhig 4km | ( 60, 200)
HAT 108,000 118 [EE3] —RIFE. T/N—FAZL LA 6m |7k3& F2ES
EA5TH15%13 1:1.2 XEEZEEOFEHE |HE HR 1thE
(R) - 22 LS2 TK 2.6km | ( 60, 100)
Hath 178,000 157 F=E hIRE—REEIAELI [t 6m |/K& BaLAY
L4959 TH21%3 1:1.2 SREEREFOFEME [FE HR Eivho 1R %[5
(&) -23 LS2 Tk 600m | ( 50, 100)
AT 151,000 150 [EE hRE—REENZ{EL[I 6m [7k& HBALAY
L1449 5TB30&3 1:1.2 NEXEREBEDEEM (fE HZ v 1B %5
(8) - 24 w2 1 K 1.2km | ( 50, 100)
Hath 500,000] 278 EX Y FREOEHFREI., 81T |4 18m|7Ki& e
IRERT655%2 1:15 EHELUSERATEER |fE AR GSES
(8)5- 1|l34£EmT14—20] RC6 1 Tk 100m | ( 80, 400)
BATh 456,000 998 ESHRE |TEBOEBHELLIE |F 20m|7k& EEEEA
A1 TH20%F 104} 1.2:1 |#BFT 5l S Hh g i HR i 3
(B)5- 2 SRC8 TK 200m | ( 80, 400)
Ham 161,000 132 [EfiRE |BEER. RBENEL |X 17.2m [/KE HE
EEFAT2582%F 241 125 |EEE | SEEE =R HR i
(8)5- 3|IE4EFAT14—18] S3 Tk 400m | ( 80, 200)
HAT 229,000 256 ESHERE |EH. EHEAMELENEL | RLE|KE B3 2%
s 2TH42% 11 1:3 |#EAT 3 S ER BT 2 Hhigk HE HR i 3
(8)5- 4|ltin2—42—18] S5 TFK sansssE@| (80, 400)
Bam 231,000 529 IEE RNREDES. I(RITE |& 20m|/KE HAITA
* FRI&E®E1ITR10E 114 1:1 DRLNBEEHIE HE HZ & GEE S
(B)5- 5 S3 TK 200m | ( 80, 400)
Hath 116,000| 1,837|&% |IE% FIREDNEEH. T5 & 12m|7Ki&E R
RKFXEFIEHS553%F 14 1:1 MNELISIRGE I (8E H= #T
(B)5- 6 S1 HmE | TFK 700m | ( 60, 200)
Bam 256,000] 391 EHEE |PEEROEHELREFE |1 21.5m |/K&E BALAY
L1959 8TH10%4 13 |RAEE |(ArbiiSeEEsE TE HZ v SE DA
(B)5- 7 RC7 EEE | TFK 120m | ( 80, 400)
B B 272,000 168 F=E —BIEE. TIN—FENE [E 8m |/K3& 7N
F#5TH26% 14 1:1.2 ET 5 EHim E HR 1thE 5
(8) - 1|F5—84—11] LS2 Tk 750m | ( 60, 200)
B 222,000 165 F=E FUMERO—REE. 7 |& Tm |7KE FH
$HET2 T H543%2 1:2 IN—MNEDRET HiEEM|HE HR 11X %05
(8) - 2|l$5HT2—9—23] w2 1 K 1.2km | ( 60, 200)
B 250,000 148 [EE3] —fREE. TAN—FENR [T 95m|KE iR
FET2 T B6500%S8 1:15 9 HiEEihiy i HR 10hE #fh
(8) - 3|lFAr2—25—5] W2 TK 1.1km | ( 60, 200)
Bk 582,000 199 0 BB |HEOES, RITENE |dFE 18m|7K3& 3
F#1 T H3%23 12 M2 |snSEREOEEhE  |hE HR ESE X7
(R)5- 1|M{F#1—8—2) RC6 TK 60m | ( 80, 400)
FH FAM 276,000 189 [EE3] FE.TN—FENEET |1 6m |/KE FH
* +FFH2TH30%S 1:2 AiEEihi i AR 2thE #[h
(8) - 1T EFHE2—30—14) LS3 TK 1km | ( 60, 200)
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FHEM 304,000 156 F=E —BEE. 7A—FEDF (1 5.5m | /K& FHRLER
AET2TH1957%5 1:15 M EMBRONDETH [hE AR 11X %05
(8) - 2|IAB2—16—23] w2 1 K 300m | ( 60, 200)
FHEM 214,000 99 F=E —BIEEQDIZT/A—+ |FE 6m |/K& FH
#B2TH12%&20 1.2:1 MNRETIREEREL: |[fE 10 #fh
(8) - 3 w2 EE g K 1.5km | ( 60, 200)
FHT 172,000 165 F=E F/NREO—REENS [ItHE 6m |7KE FH
#E6THR7%&9 1:1.2 LMEE g T 1B #R5
(B) - 4 LS2 TK 2.5km | ( 60, 200)
FAM 241,000 134 [EE3] —RIFEDODIZF/A—F [dFAE 6m |7KE FHAER
TFH2TH18%14 1:1.5 FLRoNDEEHIE TiE HR 11E/E #05
(8) - 5| FFH2—18—9] W3 TK 1.2km | ( 60, 200)
FHEM 307,000 122 F=E —BEE. AT |1t 5.5m |7k & FHRAER
ABT1TH1397%&3 1.2:1 N—FELBEHSEE |FE HR 2thE #[5
(8) - 6|l AHRT1—22—19] S3 Hhig K 500m | ( 60, 200)
FHEM 279,000 103 FE —BIEE. T/NA—FEMNE |4 6m |7k5E FH
EFM@A3TH23%34 1:15 HY HITEHI E HR 2R %R
(&) - 7|T EFE3—23—201 LS2 T K 740m | ( 60, 200)
FHEM 278,000 105 F=E —REEINZLRERE (i 6m |/KE FH
RFHEFRET1719%F2 1:2 P OEE i X E 4% HZ 1thE %[5
(8) - 8| (I EE—139%iX23) W2 TK 640m | ( 60, 200)
FHEM 279,000 178 ESEE | ERBOEHGAEEE |1 16m|/KE FHAER
TR TH130%1 12 |E ML I SERIRF M |AE HA iR #ERS
(8)5- 1[I FAT1—9—25] S3 TK 1km | ( 80, 300)
FHEM 346,000 692|&fH |IEEHFE |PEEOEHMATIIAY (A 20m |7k dFH
REHEFFR2196%F1 151 |E EHELAESRERED |XEHER EERPY
(8)5- 2| (HEE—154K4) RC10 D ERATE E iz K 50m [ ( 80, 400)
FHEH 411,000 286|&5F |IE& TEOEHEERTES (A 20m|7k& FH
REHEFHIRI20F1 1:1.5 MELISERATOEEM |REH HA [SERPN
(8) 5- 3| (HEE—122#K 145} S5 2] i fEE |FK i | (80, 400)
FHEM 160,000 2,430 BE FNMREOIS. BEE (A& 6.4m |7k & E3E298
REERAFMA1167F 14 1:1 NENTEiHhiE E 5 T
(8)9- 1 S1 B fAE Tk 350m | ( 60, 200)
FHEM 156,000 743 Ti5 I BE. —REEINE[LE 5m |7k3& FHAE
HEFHT1384% 1:2 95T ¥hig HE #T
(8)9- 2| ErRIRT12—24] TK 2.5km | ( 60, 200)
A AR 120,000 119 [EE3] F/NREO—RIEFEEN [FE  52m|KkE AR
RETE1THS65%14 1:1.2 BB Al SEEihig T HZR 1%
(8) - 1|IHEE1—9—36 LS2 TK 1.3km | ( 50, 80)
AR 106,000 203|&f2 |iE=E FREEO—REFEDOFIC (dLfE 5m |7KE ARH
EREr1122%11 1:1 HEMEE. THFLRLN |HE 1thE
(8) - 2|I=FiEr5—21] W2 BIEEME Tk 1km | ( 60, 200
AR 115,000 95 [EE3] FNREO—REENE [FmE 4m |/K3E R R
RET4TH46%22 1.5:1 B S E i HiE HZ 1ehEE
(8) - 3|IHAT4—3—-631 W2 TK 1.7km | ( 60, 200)
AR 135,000 185 [EE3] FHEBEO—REFENZL |1 5m |/KE HEEER
HBER4ATR79E 745 1:2 N EEEHhig E HR 1thE
(8) - 4|lHE#HR4A—14—8] W2 TK 650m | ( 60, 200)
AR 66,000 130 F=E F/NMEEO—BEENE |BE 4m |KE +F
REEEFHRMBE3I86%E6 1.5:1 Hilli S\E Eithig i 1ER
(B) -5 LS2 TK 400m | ( 60, 200)
AR 90,700 139 F=E —RIEEENBEISF (b 4m |7KE JThna
RKFHFHFFIH324F4 1:1.5 EHED KUMEE E xR
(8) - 6 W2 TK 470m | ( 60, 200)
INGE 117,000] 116 FE INEEO—RIFEESTY [dkFE 4m |KE AREH
BEA21TH341%18 1.5:1 2aVNRET HithiE E HR 1hE
(8) - 71|IIE81—-9-61 W2 Tk 850m | ( 60, 200)
AREIH 83,500 201 F=E hIRE—REELIELI [FERE  52m|kiE IhF
REFHFZ_EFE1129%F75 1:1 SREEAELI-FEHE|hE HR 1{EE
() - 8 W2 Tk 2.1km | ( 50, 100)
AR 120,000 165 F=E FRE—REESOZLEX [ 6m |7k5& ARH
* ABRWHR1TESIE12 1:15 EERELI-{EEHhig T HZ 1EE
(B) -9 W2 TK 1.8km | ( 50, 80)
AR 97,600 100 [EE3] INEBFEEFENEDL [k 45m|KkE B R
RFLBRFILT554%28 1:1 SRS D 1EE i i HR 1thE
(&) - 10 W2 TK 2km | ( 60, 200)
AR 76,500] 100 FE INBBO—RIEFEDNZ L [E  52m|KE AREH
INSH3THR1216%&25% 1:1.2 FE O E i FhE #£T
(B) - 11|[/hMREH3—6—44) W2 TK 2.5km | ( 60, 200)
AR 41100 920 [EE3] BREE. —BEE.MEX|FEERE 85m|/KE HEER [T5RX]
RFLEHRFIEF909%&1 1:2 FEMNZL BB RSN |fa
(B) -12 W2 AiFEE 2.7km | ( 60, 200)
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VNGE 161,000] 106 s PREOFEEFENRK [FE 6m |7K& iR
KETHRFEALSSIES 1:1 LEL I SMEEHE X 7 % HA 1hE
(8) - 13| (R RERE D 164X 6) W3 TK 990m | ( 60, 200)
AR 210,000 113 ESHRE |PEOESHESHMEL |® 16m|7Ki& AR
2@E1TE1073%45 1:2.5 | EARONBERITEVNE (B3 HR [EE3
(B)5- 1|TE2m1—-3—17] S4 Xkihig TFK 290m | ( 80, 400)
AR 80,000] 10,015 Ti5 FHREOIS. EENS |A 8m [7k& JNGE
KEFHLSEFERERER108F 14 1:1.2 WITEMh i I=
(8)9- 1 TK 4.2km | ( 60, 200)
HE BEm 143,000 104 [EE3] FNREO—REEED [FmE 4m |K3E S
HE1TH288%155 1:2 Roh b=t TiE HR 1
() - 1|T/HE1—-4—15] W2 TK 2km | ( 60, 200)
HEm 305,000 165 FE F/NREO—RIFEEN [1FE 6m [7k:& BEs
LtFE2TH2%&16 1:1.2 RondEEihs E HR 1thE
(R]) - 2|ldtFE2—5—12] W2 TK 600m | ( 60, 200)
Em 293,000 100 FE —RBEEDIFMIT/IN— & 4.5m |7k3E BEs
=/®3TH1468%54 1.2:1 rMIESNDEEHIE THiE HR 1
(8) - 3|=E3—20—7—3] W2 TK 750m | ( 60, 200)
BE™ 268,000 103 F=E —BEE. TN—FELR |FE 5m |/K& B
* AET1TH1752%9 1:2 LB EHhiE HE HR 1thE
(R) - 4|TKBE[1—17—19] W3 TK 800m | ( 60, 200)
BT 221,000 100 F=E —BEE. TNA—EHE [ 4m |/K3E e
#&iB2TH1589%25 1:1 Lt SYE Eih i FhE HR 1thEs
(8) - 5|li#HA2—3—21] W2 TK 1.2km | ( 60, 200)
BE™ 175,000 155 F=E —RiEEEFIOET DRI T 4m |KE EEE
HBEFEA3THB36%F10 1:15 {EEHhis HE HR 1thE
(8) - 6|[fBE&3—9—3] W2 TK 1.5km | ( 60, 200)
BiE™ 68,300 341|&H |[F= FE. IG5 BEEENEE (@ Tm |/KE BEs  ([THR.
RFELABARFHE117F 15 1:1.2 T HEEHE HiE
(8) - 7 LS2 3.1km | ( 70, 200)
BEm 284,000 100 F=E FUMREDO—REENE |& 6m |/K& S
{HET2TE17&11 1:1 L SREEAREL-EE |fE HR 1thE
(8) - 8|l {hET2—10—56] W2 Hhig Tk 740m | ( 60, 200)
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